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2 A X'+ y* = 8|

a) radrius b) X-intercepts  a) U—m%emepfa
Ly =8| Ly =9 and +9 -9 and 9
r:JS\,
r=9 units
d) domain e) range

ix1-G2x<9q xert {y|- <¥<9,yenf



2 Bt x*ryr=yg

a) radius b) X-intercepts
Lo rat g L -4S and 43

r= {4E _
= lbdﬂ
= A3 units
Q) Ej;iﬁ'\“ﬂ\‘“cﬁpfst d) domain
“4{3 and 4{3 _
; A% B x < ul3 xer]
6) rqnafi

lyl-1S=y=<H3 yery



3. X'+ 5"‘=25

a) (N, ?)
TF x=-N1¢
(‘-l dinate =>4 '5)
1@ ++\‘j" 5?) (ordinate ( er
gj 2316 (-4,3)
r— 9::‘:.3



Coerdinates (H,3)
or
C4,3)



T x=5¢
(D" +uy*=25
295+ - e

G_;{; cdinate o (S}O)
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TE x= 2138
(2I3)*+u*= 95
H)B)+ &2=395 @c.:rdm&ﬁ’_z (QE,E)
12+ =95
2 = 6)'5
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E@uﬁﬁm’ RNTER [DOmMATN RANGE, X-INTERCEPTS| § H}"HT’E’J?CEP'S
X*Y=q  1(0,0) paldexs3,X€R} {313-‘- <3 QER} -3and3 | 5&9632__
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5 a) passing +hmu3h (1;-‘4)
Ly TF A=2 and tr-*«f?

_r-‘.'-l'.

A It

H+ e =r2
=r2

'-T«"T)F@FEFDFE, the Ectuuﬁr_.n wowld be:

Aryr = r2
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) passing through CNIRPD!
L A= 45 and 5:&’3

Airyi=v2
sy*+2)*=r?
AeX5)+ b =r®

BO+2 =102
gL=r2

EN T')ngre’?ure ,Hhe equation would be ©

"I'l'l'lj": -
rx'1+ Bl=gl
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Ls TV herefore, the equation would be <

R+ gr=r
RS 3"‘- 44
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6. ) x>+ Ctjc‘-l)l o4

(X-O)*+Cy-4)*= 4
Enter (O, M)
lfi&dutS °® r2:=geYy
r=\e4
r=8 unit+s
b) (%+2)>+ (2 =49

(X+2)*+ (4 +Q) *= 49
@n+er (-2,0)



c) (x+)*+ (y=11)*=100

C€ﬁ+€iT (=1,11)
%:Ldiu.sg r =100
Y = \NQO

r=10 units
d) (x=16)*+ (y-3)* =144
@ﬁJrer“ (lb,3)
F{Cj us & = 44
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1.

a) C (-1 e,);, r=\7
(X-h)>+ )
A=-11)* ( (r)
x+11)2 d* 2=

b) C(0,3);

(%-h)? +( ) e
(A-O)+ L% % cs)‘*
X? + C =95
) ClH,-4) =13
’X‘hg +Cu-K)*=r=
x4 1—( H)" (13)>
(X-H)* 3% 4)* =169
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d) CC9,14); r=2

(X-H)2+ (G-K)*=r>
(X=9)* + G- 14) = (2)*
(X+4)* + Cg-14)* =4
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8.¢) C(2,-2) and passing through J(8,4)

rQeJrhod 18

D= \FX-L"X

)%(Srﬂ )?

Efx “2)"+

T2

9) AP
§f )" = (Bei2)

ﬁ‘tﬁi‘hod 2%

(x=-h)*+(y-K)=r
(%-2)"+( 9.) 72
(A~ 2)2{-(9#2 =72,
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b) C('IOJO) and Passing ﬂfﬁuﬁh K(,-3)

(Tle thod 4 .

'D:@m“'xa}l‘l'(ﬁ 1“8 i)_i

= \(I-10)*+ (=3 -0)?

= O+ C3)?
= 5l

— O

= \{9XI10

=23JIC

r= adic ; C1o,0)
x-h)+ (Y-

x- ICJ)l
A=1C)* +

%-10)*+ OJ“: SF‘)
gji_gq ©)

ﬁ]\eﬁ-hcndz?,

¢ (10,0) HU;BJ
N

(%-h)*+C }s) r

( (‘?1“+ (é%
81 + 9 =r?%

Qo =r2

%-0) "+ (u-K) =2
Ax—10OY+ c&@é%

X-10)*+ g*=90

18



Ya) 12-1—51—123-5 =0
Stepde «* ftf-lzﬂ——S
Step2t A* +y*-i2y+3e=5+36
Srep 3¢ (%-CG)*+ (\\__J-hfc-)z= L
Center (0,6) ; =141 units
b) X*+y*-4%-1=0
Stepae A=HA +y>= |
Step2¢ A=HA+4 +y>=I1+4
Step3e (x-2)* +(3—G)"‘=‘j
Center (2,0) 5 r={5 units
) A tf—ib'x-‘@:j—'l =0
Stepl? XX +3‘n@j= 4
Srep2i A*-0x+9 + ':jt_g\‘j"‘”lb: A4+ 16
Step3e (=3)*+ (4-4)= 96
Center (3,4) ; v=V26 units
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d) 2ml+‘lj“+tb'x~‘€5~+IQ=O
F(;ﬂ-rq Sﬁ:pz Divide ecch ferm btﬂ 2
‘Xl%tjii-S’K*‘ '\13*---'2—:0
‘; = . 2 _ = =-|
SJrEpj_ xX*+ KX - Y "l\j _13.
Step223 fxlfgfx+\b+32—43+‘+ =“_J&+l&:.+‘+
Step3e  (x+4)*+ (3—?_)‘ -_9._1-20
(1-+4)1+(5—?)2 -_q_+ L{c}
., 2 2
(fx+hl)*+(gj -2)

H

ol
2
(enter (-4,2) ; %_

r= |._:;)_ umts
2
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€) S%x*+3y4°-3ex +48y +100=0
Exte Step : Divide each term by 3 .
z x_ . 100 =
x*ry>-12% Hloy+ 100 =0

Stepdl? A% 12%x +u*+lby = —100

Step22 &*-12% +G5(o+31+lb3+ H=-100+361 64
3
Step3s (%-6)*+ (8+ 8)*= 100
D
(%—6)* + Cy+8)*= -100 +300
<
(%-6)*+ (Y +8)*= Qo0

+I.Q|C‘b

3
GEI.’T{‘EF (6}'3); = D00
= 100X
= 102 um¥s

3
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10, %+ y*-6x-8y-39=0
Stepd: A-6x +y* 8y =39
Step2? A=A+ +y*By+le=39+9+16
Step3z (A-3)*+ (y-4)*= 64

a) (ertec {a}%} 3d) Domain - {xju:‘jia(i-\l)?(&ﬂ}

b) radius @ ?::@—._ir e) - |-H2g<i12 Eﬁ_&
= umts %ﬁa ) {3 \Lj )5
e) J\H =
¥
. * S
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I a) =x* + %_ =1 i)ﬁlanr Ars = 2a

36 - : =2(6)
X o+ ur =4 =12 dnits
(6)* ¢ }1 A e
inor JAAINS =
L HQTL;_DH“‘I‘GLI {‘j“pﬁﬂ- TYAI _l{lj
2 umitS
a=b
b=1 ) Verhices .
-6,0) and (6,0)
i) s-ints => -6 and 6
q—x'ﬂ‘l‘ﬁ =y -land l
b)) A* + i 1) Measor AXIS =20
A ‘ﬁl_ o =0(1)
o 4t =1 =14 units
(D> TR e
Ta'sln D =
Ly Vertical B)lipse " = 2(4)
= Bumts
Q="
b=4% i )vertices.

Co;1 and (o, T)

'l'“) *%=ints =>4 and Y
tj-uﬁﬁ"i:} -7 and I
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) Q(_z_'f%i;l
(2)“ é—

L, Vertical Ejhpse-

a=3
b=2

1) rANSs =20
ey = 2(3)
=6 um¥s

(Y‘Lino'r Axis=12b
=0(2)
= 4 unl"l‘S

i) vertices
(0,-3) and (O, 3)

i) A-ints=>=2 and 2,
k\__))"lﬁ'\‘&, =-Dand 3
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12,

G
Mivor AXIS 1S 5 =r 2b=5
bh=5
2
XVer+tical .
%Luaﬁ‘on o %__9‘_4- : =
o+ y*=1
Gy &y
a4 gr=1

a) Major Axis is 19 => 2a=12
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b)» X-ints=>*17
- Yints= tq.

E((/Ll{l"'lcrﬁ; AT+ 9 =4
et 92

2 4ogr=4
s

a)»One vertex =(0,0)
Lz %mnfniﬁg vertex must e (:”\Opc')

*qu.rr—:?ore. the mayor axis 1S 20 units

L} 2a=20
a=10.
® Minor AxS =06
Ls 2o=0
h=3
Equohions X' + u* =1
C QoY* é;j"
A=+ yr=4
0o 9
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13a) 1o(x-1)"+ l'?_(sj-t-f’))i=48
lo(A=1)* +12(yt3)*= 4K

4 T3 5
(X=D*+ ('H-i—§21= 1
% =
Center (| ,'3))

Since ts ellipse 1g vertical, itis paralle |
FO Hhe Y-aAi'S-

b) 3C 'Xﬂ*‘-l)“-+"i(3—2)"=27
EJ’X le'a" q'—‘lzsﬁ_
42—1%) " Cia?"v)—) ]

X+4)* + -2)*= 4
g - (g

3
(Center (-4,2)
Since s ellpse s horzonal it sparalle L4o Hhe
X-ax1s-
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D (6N Ay’ +355§-?)€»\ —\003
A-Fox  +by -loy =T

q()\z-'“\x -t'—n-\rﬁ(\g —L\ﬂ*% =%‘1 + ¥ %100

M\?*ﬂ\é‘ﬁ = 35
W W™ Hs

\@L S,
5 9

9‘%'—,?+é\__—33" =\ Hof(Zo!\‘\’al
© & azH b=
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4 0) Ax*+25y2-36x-100y-89=0 X"axis
Stepds 9x*-36x +25y*100y =89
Extra Step « GUx™=4%) +25( - ”rij)f-gci
Step2t A (x=Hx+H)+25(y Hy+4) =8It
Stepds 9 (%-2)% 25 (3-2)% 205

Q(x-2)"+ 25¢( Eg-mlt 2235
2295 22 225

(X=2)*+ (;%-2)% 1
US| g

29



b) 2%*+5y*+20x-30y+15=0
Sﬁpi E Q.'Xi'i_ 0% . *5Y 2—-6(:)'3 = —‘-IS
ExtraStep ! 2(x*+10%) +3( 91—6U)= -5

Step2s 2(x*+10%+25)+5( Yoy +a)=T5+508H5

Stepss 2(x+5)*+ 5(y-3)*=00

2(X +5)* + O ':‘?'5’1';&%:)%—

20 )
5)* + (U= =1
1O e
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15. @59{*—+1632+1509<+323—iSq =0
Step L ISAHISOR +lby+32y =159
ExtraStep 25(x*+6x) + l6(y+2y4) =159
Step 28 05(x *+o%+9) + \6(81-+23+l)=15<?+295+ie
Step 38 95(x+3)*+ 1o (y+1)*=4H00
&5.1_'2(_5)‘ + 'J%tub 400

~HOO
(Z N E)
1o %‘:‘S
a) Center (-3,1)
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b) (x+2)*+ (y+)* =2 C(-3,1)
H4)* (S)?

vertices
(-3,-1-5) and (-3,-1+5)
(-3,-6) and (-3,4)
Q) 'I'Y‘La\jargﬁ*xis'-- 2q MlinorAxis=2b

=92(5) =2(H)
=10 umnts =€ unrts
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. l‘l’)tl‘Pclsi—-E‘){“S"hd--i-'-lth
Step e HA*-%X +0|31-5qj-= -4q
Extra Stept 4(x=2%) +A(y-6y) =44
Step 25 4 (x*- 2%+ + A= by + D="44+8
Step3s H (x-*+ A(y-3)*=36

H(x=D)* + 4(y-3)* = 20
36

(J:L)Jr(hﬁi:l).

Q) Gnter(4,3)

b) (x=D*+ (u-3)*=4
®»* 2)*
verhices (1-3,3) and (1+3,3)
(-2)3) and (4,3)
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Q) ﬁ}o\')c:ar AXIS=2qg
=2(3)
- Q, untts

noc AXS=2b
W =255
=Y units
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